This report contains the transfers results.

Contest Name	Ward 4 - Forth
Valid Votes	
Positions to be Filled	
Quota	

10,555

4

2,112

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
JIM CAMPBELL	Scottish Conservative and Unionist	1,594
LINDA LENORA CAMPBELL	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	152
Cammy DAY	Labour and Co-operative Party	1,995
Sanne DIJKSTRA-DOWNIE	Scottish Liberal Democrats	2,077
Stuart DOBBIN	Scottish National Party (SNP)	1,917
Carrie GOOCH	Scottish National Party (SNP)	1,353
Kerry Elizabeth HEATHCOTE	Women's Equality Party	130
Kayleigh O'NEILL	Scottish Green Party	1,337
	Total	10,555

This report contains the transfers results.

Stage 2 - Exclusion of Kerry Elizabeth HEATHCOTE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to JIM CAMPBELL	4	1.00000	4.00000
Transfer to LINDA LENORA CAMPBELL	10	1.00000	10.00000
Transfer to Cammy DAY	19	1.00000	19.00000
Transfer to Sanne DIJKSTRA-DOWNIE	17	1.00000	17.00000
Transfer to Stuart DOBBIN	6	1.00000	6.00000
Transfer to Carrie GOOCH	12	1.00000	12.00000
Transfer to Kayleigh O'NEILL	38	1.00000	38.00000
No further preference	24	1.00000	24.00000
Not transferred due to rounding			0.00000
	Total		130.00000

This report contains the transfers results.

Stage 3 - Exclusion of LINDA LENORA CAMPBELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to JIM CAMPBELL	48	1.00000	48.00000
Transfer to Cammy DAY	30	1.00000	30.00000
Transfer to Sanne DIJKSTRA-DOWNIE	19	1.00000	19.00000
Transfer to Stuart DOBBIN	15	1.00000	15.00000
Transfer to Carrie GOOCH	4	1.00000	4.00000
Transfer to Kayleigh O'NEILL	15	1.00000	15.00000
No further preference	31	1.00000	31.00000
Not transferred due to rounding			0.00000
	Total		162.00000

This report contains the transfers results.

Stage 4 - Surplus of Sanne DIJKSTRA-DOWNIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
No further preference	312	0.00047	0.14664
Not transferred due to rounding			0.00689
	Total		1.00000

This report contains the transfers results.

Stage 5 - Exclusion of Carrie GOOCH

1,369.03525

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to JIM CAMPBELL	8	1.00000	8.00000
Transfer to Cammy DAY	60	1.00000	60.00000
Transfer to Stuart DOBBIN	1,069	1.00000	1,069.00000
Transfer to Kayleigh O'NEILL	181	1.00000	181.00000
Transfer to Cammy DAY	13	0.00047	0.00611
Transfer to Stuart DOBBIN	27	0.00047	0.01269
Transfer to Kayleigh O'NEILL	20	0.00047	0.00940
No further preference	51	1.00000	51.00000
No further preference	15	0.00047	0.00705
Not transferred due to rounding			0.00000
	Total		1,369.03525

Report Name: Transfers_V0001_Ward-4---Forth_06052022_160522.pdf Created: 06-5-2022 16:05:22

This report contains the transfers results.

Stage 6 - Surplus of Stuart DOBBIN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to JIM CAMPBELL	69	0.29764	20.53716
Transfer to Cammy DAY	495	0.29764	147.33180
Transfer to Kayleigh O'NEILL	1,486	0.29764	442.29304
Transfer to JIM CAMPBELL	3	0.00013	0.00039
Transfer to Cammy DAY	31	0.00013	0.00403
Transfer to Kayleigh O'NEILL	41	0.00013	0.00533
No further preference	957	0.29764	284.84148
No further preference	21	0.00013	0.00273
Not transferred due to rounding			0.02916
	Total		895.04512

This report contains the transfers results.

Stage 7 - Surplus of Cammy DAY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to JIM CAMPBELL	423	0.06202	26.23446
Transfer to Kayleigh O'NEILL	746	0.06202	46.26692
Transfer to JIM CAMPBELL	34	0.01846	0.62764
Transfer to Kayleigh O'NEILL	187	0.01846	3.45202
Transfer to JIM CAMPBELL	204	0.00002	0.00408
Transfer to Kayleigh O'NEILL	211	0.00002	0.00422
Transfer to JIM CAMPBELL	2	0.00000	0.00000
Transfer to Kayleigh O'NEILL	13	0.00000	0.00000
No further preference	935	0.06202	57.98870
No further preference	274	0.01846	5.05804
No further preference	258	0.00002	0.00516
No further preference	16	0.00000	0.00000
Not transferred due to rounding			0.01090
	Total		139.65214

This report contains the transfers results.

Stage 8 - Exclusion of JIM CAMPBELL

1,701.67257

	No. of Dellar		
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kayleigh O'NEILL	242	1.00000	242.00000
Transfer to Kayleigh O'NEILL	28	0.29764	8.33392
Transfer to Kayleigh O'NEILL	126	0.06202	7.81452
Transfer to Kayleigh O'NEILL	24	0.01846	0.44304
Transfer to Kayleigh O'NEILL	104	0.00047	0.04888
Transfer to Kayleigh O'NEILL	1	0.00013	0.00013
Transfer to Kayleigh O'NEILL	53	0.00002	0.00106
No further preference	1,412	1.00000	1,412.00000
No further preference	41	0.29764	12.20324
No further preference	297	0.06202	18.41994
No further preference	10	0.01846	0.18460
No further preference	468	0.00047	0.21996
No further preference	2	0.00013	0.00026
No further preference	151	0.00002	0.00302
No further preference	2	0.00000	0.00000
Not transferred due to rounding			0.00000
	Total		1,701.67257

Report Name: Transfers_V0001_Ward-4---Forth_06052022_160522.pdf Created: 06-5-2022 16:05:22